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Some Important Lessons YouTube Lecture Links:

Lecture 1: Derivative: https://www.youtube.com/Derivative Lec 1

Lecture 2: Derivative: https://www.youtube.com/Derivative Lec 2

Lecture 3: Application of Derivative: https://www.youtube.com/Application of Derivative
Lecture 4: Function: https://www.youtube.com/Functions M1
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Basic Mathematics (Fy Diploma Sem 1) 70 Marks
K Scheme Course code: 311302 Prelim 2
Q 1 Attempt any 5 (10 Marks) c. Resolve partial fraction
a. Solve: . x¥3
1 3) + log(x — 3) = 10916 (-DE+Dx+S)
F)g(x +3) +. 0g(x — 3) . d. Resolve partial fraction
b. Find area of triangle whose vertices 241
are (435), (0’7) & ('1,1) x2-1
c. Without calculator find value of:
sec?(3660°) Q 4 Attempt any 3 (12 Marks)

d. Mean and SD of distribution is 60 &
5 respectively find coefficient of
variation.

e. Mean and SD of distribution is 60 &
5 respectively find coefficient of
variation.

f.  Find perp. distance of point (-3, 4)
from line 4(x + 2) = 3(y — 4)

g. Find coefficient of range for
40, 52, 47, 28, 45, 36, 47, 50.

h. Find dy /dx if y = (x*+5)7

Q 2 Attempt any 3 (12 Marks)

o a=f o=lt 2]

Whether AB is singular or non-
singular matrix?
b. Show that A2 =1, if

0o 1 -1
A=14 -3 4 ]

3 -3 4
c. Solve using Cramer’s rule

vV +v,+v3=9

vy —Vy+v3=3

vy +v,—v3=1

d. Solve using Matrix Inversion Method
x+y+z=3
x+2y+3z=4
x+4y+9z=26

Q 3 Attempt any 3 (12 Marks)

a. Resolve partial fraction
9

(x—1)(x+2)?
b. Resolve partial fraction
x%—x+3
(x=2)(x2+1)

a. Find angle between the lines
y=5x+6&y=x

b. Find equation of line passing through,
(3, —1)and paralle to x+2y-4=0

c. Solve without using calculator
sin(420) + sin(—330).cos(105)

d. Prove that

tan~! (g) +tan™?! (%) =tan~! (%)

Q 5 Attempt any 3 (12 Marks)
a. Find SD, variance & Coefficient of
variance for following data:

Class | 0-30 | 30-60 | 60-90 | 90-120

fi 10 20 30 40

b. Find range and coefficient of range
for following data

CI| 0-9 | 10-19 | 20-29 | 30-39 | 40-49

F 12 22 10 14

16

c. Divide 120 into two parts such a way
that their product is maximum
d. Slope of tangent to curve curve
2y3 =ax?+bat
(1, -1) is same as slope of x +y =0
Finda & b.
Q 6 Attempt any 2 (12 Marks)
a. Find radius of curvature to
curvey =e*atx =0
b. Find dy/dx if x=a (0 — sin 0) and
y=a(l—cos )
c. FindZifx2+y +xy-y at(12)

. ay .
d. fmdalf

y = (sin™'x)* + (cos x)"!
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